=0 o
20244 20{AF LBHE|H| FRI=X| D
SA: ==X
MR HNSAHAH|(TI=K)
o2t J|=3H| (crel: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
FOI=T 18,427,174 15,949,770 2,477,404
= 10,771,596
= 580,915
[ 1,920,248
2 5,154,415
HHSHAH|(FLI=XID) 32,580 36,400 3,820
=2 32,580 36,400 3,820
J123H| 32,580 36,400 3,820
201 LBty 23,940 27.760 3,820
01 AtR2Hel| 14,940 15,280 A340
OgLete=2H| 11,100
0I2AREE 100,000&4% 160! 1,600
OAIRD1D] & SAIEE 8,000,000 8,000
0J|Et==2H| 1,500,000 1,500
OS2 (FUSR U FPEX)
8,000 % 1621%304! 3,840
02 2Z2%Y| 9,000 12,480 A3,480
ORERI = 9,000,000 9,000
202 01t 8,640 8,640 0
01 =203l 8,640 8,640
ozlobl(=s&l)
180,000 x4 4 Sk« 12 8,640
MY A2 (FOI=XL) 6,900 6,900 0
SNERSH 6,900 6,900 0
olzi 2 | 6,900 6,900 0
203 ARFZIY| 6,900 6,900 0
01 I 2 2HARFXIY| 3,300 3,300 0
OJ|22HAREA| 3,300,000 3,300
04 BPASLY2FEY| 3,600 3,600 0
ORNZ2ZHRFEH| 300,000 %12 3,600
FOIRIX| DI8F 25 714,162 613,915 100,247
[ 79,100
= 635,062
B CIERS 343,834 291,930 51,904
[ 79,100
2 264,734
=27018 29 17,200 20,240 3,040
201 LBty 3,200 3,840 2640
01 Atz 3,200 3,840 2640
SEECIEVNPIEEISES
8,00021%501%80A! 3,200
202 01t 12,000 14,400 22,400
01 =LH0IbI 12,000 14,400 22,400
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A FoI=X D
Ha: Z=OIXHK| D8t 25
=Rl SR 2 (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
S PIEEEET
200, 000501128 12,000
203 L2 =AY 2,000 2,000 0
03 AIZHZ=RIQD =AY 2,000 2,000
OF0ILRMHIA HREX
2,000,000 2,000
NEEWESEEEE 2,000 2,000
201 L2 A 2,000 2,000 0
01 AFR22IHI 2,000 2,000 0
OMBISXN YYD 22235 2 Qe
dl 2.,000,0002 2,000
ANt L 2D AR XIS 3,600 3,750 A150
301 YB3 3,600 3,750 A150
02 A2 RE S (FAHS, XILTHR) 3,600 3,750 A150
O#eiXt £ =] 2 Lol
30,0002 %103 300
O AP AlAIKEl L A
1,100,0002 %33 3,300
Hoh2sI12 69, 100 65, 150 3,950
[ 69, 100
201 L2 A 3,500 16, 150 A12,650
[ 3,500
01 AF222IHI 3,500 16,150 A12,650
OYRee MaHrs W=
1,000,000 1,000
[ 1,000
ONafi=E 227 2,500,000 2,500
[ 2,500
302 OI=LTHSHE A2 63,600 46,800 16,800
[ 63,600
02 BItOITHSHY SRS A S 63,600 46,800 16,800
OOITHE! 3 H| 63,600,0002 63,600
[ 63,600
401 AlEHI 2L 20HY 2,000 2,000 0
[ 2,000
01 Al&H] 2,000 2,000 0
OBAIZANAIE L W RSSA E2&D
22l 2,000,000 2,000
[ 2,000
MNIIZLHE XIS (HEAL) 201,934 119,926 82,008
301 YB3 201,934 119,926 82,008
10 AlB|1 2R Az 201,934 119,926 82,008
OMzlEReBAZ 201,934
oelAt| 860,000 17Q1x 122 175,440
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S F=0I=XY
HE: FOIXX| JIg 25t
ol =X018 29 CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0S| 5,00020%17Q1x222 % 122 22,440
oml=tl 311,840&132! 4,054
NEEWNEEREREEINE 50,000 50,000 0
[ 10,000
= 40,000
307 212+0|& 50,000 50,000 0
[ 10,000
= 40,000
NN EEES 50,000 50,000 0
OMBIEXNHELNH 28 X
50,000,000 50,000
[ 10,000
= 40,000
FOI0|2AIL2RIRXL 2 370,328 321,985 48,343
=Sx522d 340,328 321,985 18,343
101 Q124H| 78,724 89,985 A11,261
04 JIZHHI22ISE % 78,724 89,985 A11,261
OSAY, ceo =X52 22| 63,011
0123 78,8802%201x3002 47,328
0F=Xt==& 78,8801 x201%482! 7,573
0 Xt 78,8802+201x 112 1,736
0=21%= 28,317,920 %201%4 5% 2,549
0HE=2S 28,317,920 %201x3 . 545% 2,008
0L QIR )| QoS
1,003,87020%201x12.81% 258
01E=E 28,317,92024%201%1 . 75% 992
OMHHEE 28,317,920 %201 %1% 567
OX2H=ER 52 S22 15,713
0123 78,8802% 1011502 11,832
0F=Xt=< 78,8802+ 101x242! 1,894
0 Xt 78,8802 %x101x5 3%
o=21=3 14,119,520 101%4 . 5% 636
0HE=2S 14,119,52024%101%3 . 545% 501
0L QIR )| QoS
500,5302%101%12.81% 65
01E=E 14,119,520 %101%1 . 75% 248
0MHHEE 14,119,520 %1Q1x1% 142
201 L2 A 115,400 110,000 5,400
01 AF2ZH2IHI 17,000 10,000 7,000
Oget23| 1,000, 000 *8 I} A 8,000
OS0IZH|, Al MM L] S(SA,ME,
) 250,00024 %370 2% 128 9.000
02 2229 98,400 100,000 21,600
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A FoI=X D
2 FOIXEX| JOlet 25
CHel: =0I0|ZAIE 2R IRKY 2N (crol: xi21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Os5R= 900,000 *8IH A* 122 86,400
OZS2S2YAIE HZH|(XHE)
2,000,000+ 1JH A6 12,000
401 A& HIL S 0HY] 135,204 118,000 17,204
01 Al&H] 135,204 118,000 17,204
OARD FOI0|2AIE X2
1,500,000 %874 A 12,000
OISR 5|2 AlLES
5,200,000 5,200
OLEHEX|S|2 AlLES
50,000,000 50,000
OMZHET|3|2 AL
5,000,000 5,000
O(SHER|FI AlLES
63,004,000 63,004
405 KHAE SH 11,000 4,000 7,000
01 AU SEFSH| 11,000 4,000 7,000
OStE =R 52 HIZ(SYRER) 7
11,000,000 11,000
QEHET|G| T POl AX|(Z=0IEH0{0AH) 30,000 0 30,000
401 AlEH| 2 S CHH 30,000 0 30,000
01 Al&H] 30,000 30,000
ORLEHE|5|2 201l A ]|
30,000,000 30,000
2t B2E 22| 2 XY 2,121,420 2,218,608 N97,188
[ 390,300
= 1,731,120
EEAY 138,570 197,688 A59, 118
[ 1,500
= 137,070
HEAA SR 24,356 13,556 10,800
201 LB 4,356 3,556 800
01 AF222IHI 3,700 900 2,800
OSZEAL AR 24| 1,000,000 1,000
OBEAIL 22| 2E7Y
100,000 %33 300
OFI|E22 HA 2oH|
300,000 +82 2,400
02 2229 656 2,656 22,000
OG22 3&A M) Q2
35,0004 128 420
Ooss2d M2 3,000 128 36
OFMIIE2Y HEEHA 242
200,0002%13] 200
401 Al&HIL S CHY] 20,000 10,000 10,000
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S F=0I=XY
HM: 2 2E 22 L XY
el BEdd (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0520 HIASSIER Q3
4,000 %128 48
ESEReFSEEIL 50,00024%13] 50
401 AIEHIL 2O 20,000 0 20,000
01 Al&H] 20,000 0 20,000
OSEEE| AlLE SX8S
20,000,000 20,000
[gs|Ey 29 64,191 48,584 15,607
101 Q124 33,611 33,804 193
M IIHR22IEES 33,611 33,804 193
OR=sa)|E 33,611
0o123(1,2,11, 69,0202 %101% 1022 7,041
00122(3&~10 78,88021%101x210L 16,565
0=Xt=< 78,8802 101x502! 4,102
0AX = 78,8802%101x11 868
0=2%= 27,707,000 %4 5% 1,247
0HZEE 27,707 ,00024%3.545% 983
WESCIESpiRedeid 982,0002%12.81% 126
0N2EE 27,707 00024 %1.75% 485
0&HHEE 27,707,0002* 1% 278
SRR E = 74, 70024302 %3122 /3652 1,916
201 L2 10,580 14,780 24,200
01 AFR22IHI 4,240 4,240 0
OSOIHHIAIAL a2
170,000 % 12 2,040
Ozigael & 234| 100,000 % 12 1,200
OJIEt=2H| 1,000,000 1,000
02 2229 6,340 10,540 24,200
O Al EZ 20,0002 %122 240
OoNslea 5,0002*12& 60
omMIIR2 500,000 %12 6,000
O=E23 20,0008 %2 40
401 AlEHI L2 0HH 20,000 20,000
01 Al&H] 20,000 0 20,000
ORUSI|ER ALE 2L
20,000,000 20,000
SECHHIXI 1,982,850 2,020,920 A38,070
[ 388,800
= 1,594,050
SEchy 22| 122,970 120,600 2,370
301 YLHEAS 25,500 24,300 1,200
11 BAFAHIXI 22 25,500 24,300 1,200
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SN FOI=XID
g = 22 2l A
cel BEHAXE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Ofe=d =& J0+g
171,120,000 171,120
= 37,200
2 133,920
OSTRBN RE Yo+
5,760,000& 5,760
= 2,400
i 3,360
A=A XA 1,200 0 1,200
S 360
i 840
301 LBtE2NS 1,200 0 1,200
= 360
i 840
02 AR 2ZELFS(FHAAS, NLEWE) 1,200 0 1,200
OFZLIoHA 2 1g
600,000& #2921 1,200
= 360
i 840
HHRIA A2 S 15,000 0 15,000
301 LetE2d= 15,000 15,000
02 ALRI2EE LGS (FIAAS, XL 15,000 15,000
OHERSN AHLRIZ2
300,000 #50¢! 15,000
2D EZMEEZ(FAHSO) 1,407,500 1,245,001 162,499
= 1,126,000
= 140,750
i 140,750
Has F=A=SXKE 1,407,500 1,245,001 162,499
= 1,126,000
& 140,750
i 140,750
F=HSA 1,407,500 1,245,001 162,499
= 1,126,000
& 140,750
i 140,750
301 LetE2d= 1,050,500 900, 103 150,397
= 840,400
& 105,050
i 105,050
01 ALRIE2EE 4GS (S REXTHE) 1,050,500 900, 103 150,397
OIEFNHSH+SX LXSH(ES20)
1,050,500, 000& 1,050,500
= 840,400
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SA: F0=XD
Hm: 20| ZMELR(FH30)
Bel: HAS =H=XX (crol: 2i21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 105,050
= 105,050
403 KIXISHH S XH=0[& 357,000 344,898 12,102
2 285,600
= 35,700
= 35,700
02 20| 2SNHEHIE R SIS A 357,000 344,898 12,102
OIEFAHZUS +EBNZ0 (S22
o/ =2l 357,000,000 357,000
2 285,600
= 35,700
= 35,700
UES =XX L N2ZEA 1,601,457 1,204,771 39,686
2 492,316
2 400,320
= 172,820
= 536,001
EEENE] 1,411,038 1,056,992 354,046
2 459,116
= 400,320
= 159,783
= 391,819
su=isAeY 9,780 9.780
201 Yer2 %] 2,580 2,580 0
01 At=22lt] 2,580 2,580
Os|U=XXIA 22 2B S MR
165,000 %43 660
OB (3| U=XIHP43H)
8,000 *301%80A! 1,920
202 01| 7,200 7,200
01 =Kol 7,200 7,200
OEIEMEERS-T
200, 00021%301% 122 7,200
NEREEEYE 1,200 1,200 0
201 YPr2 Ay 1,200 1,200 0
01 AF222lt] 1,200 1,200
OXISAISI B GIXte AI#HEAN L 2Dt
E0A HR 20,0002 *305+23] 1,200
NENEEEEELIES 51,150 39,200 11,950
201 Yet2 Ay 21,750 10,800 10,950
01 At=2lt] 21,750 10,800 10,950
OHESIM 35lo/4g
100,0004x2001%33] 6,000
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SA: ERI=X D
g EE SN & NH2ASA
ool SlUSAXE (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OAREAM 22+<
100,000 *1521%53] 7,500
OAUSED 5lo14g
50,0002 +3321%53] 8,250
301 Et2AS 1,200 1,000 200
11 EAHIXES 1,200 1,000 200
O 1% U 3L HA
60,0002 *521%43] 1,200
307 2I2+0| ™ 28,200 27,400 800
04 QIZFHAAIHE X 23,000 23,000 0
O8N Sg4st A8
5,000,000&*12] 5,000
OXgG=XeEs 13,000,000 13] 13,000
OAMEI=RICIo| S=5t SE
5,000,000+ 13l 5,000
10 AlRIS XA EEE 2SI 2 X 3,000 2,400 600
OB A2 2H2H| 3,000,000 3,000
11 ARRISXIMEEES 2,200 2,000 200
Ot ™s|ULts OlS=SSIHE 22
2,200,000 2,200
NSAR 2HE M HEAE 12| 44,700 42,321 2,379
= 6,000
i 38,700
307 2I2t01™ 44,700 42,321 2,379
& 6,000
i 38,700
10 AlRIS XA EEE 2SI 2 X 44,700 42,321 2,379
OXIGA2| 2SN dgAA 21|
3,725,000 *121x12& 44,700
= 6,000
i 38,700
SHXGARI2EEAM =22 22,000 11,000 11,000
= 6,600
[ 15,400
201 28t=3d| 11,000 5,500 5,500
& 3,300
[ 7,700
01 Al 22| 11,000 5,500 5,500
OSHNSAM 2SN 23|
1,000,000 114 EH 11,000
= 3,300
i 7,700
301 Et2MS 11,000 5,500 5,500
= 3,300
i 7,700
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VS
o

Elﬁ

3 GIEE SAKE & N2 SA
ot
[e=)

Ciol: Bl2=T K2 (crol: 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 NS Z R Rl 2 (FIO S, N2 e) 77,000 5,500 .50
OSBXIAIE ZRE M X2
1,000,000&*11JHE™ 11,000
< 3,300
2 7,700
SeTAtlI 22| AL 7,600 7,600 0
= 3,800
2 3,800
201 L2 3| 3,600 3,600 0
2 1,800
o 1,800
01 Azl 3,600 3.600 0
OEEEE s 7 2,960,000 2,960
2 1,480
o 1,480
OsaAR2IA DS
80,00024#201%43 640
= 320
2 30
301 LESBHZ 4,000 4,000 0
2 2,000
o 2,000
EEREES EIEREESE) 4,000 4,000 0
SEAMTRITHAR X2
1,000,000 x40t 4,000
= 2,000
2 2,000
SO EE SEADIA(R0DIE SA=AANDIL) 108,557 108,557 0
s 76,000
o 32,557
201 L2 3| 54,280 65,134 210,854
2 38,000
o 16,280
01 AtR22lt| 54,280 65,134 10,854
OsstARRl 22HI(11HSe)
54,280,000& 54,280
= 38,000
2 16,280
301 LEEBHZ 54,277 43,423 10,854
= 38,000
2 16,277
01 AISIBEEGI2(2DETNS) 54,277 43,423 10,854
OsstAiIR2l XIRHI(11HSS)
54,277,000& 54,217
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SA: Fo=Xn
HHM: IEH =SIXNY L HA=A
=l Y= (Crel: & 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
z 38,000
z 16,277
SEHALAIZRIAL QI 67,752 67,752 0
z 33,876
z 33,876
101 QI24H 67,752 67,752 0
z 33,876
z 33,876
02 JIERIE 2 35,4% 33,876 1,620
OSEAIZ2IAHAIZISE T 2D RHIB2) 35,4%
0J122(2IIN93) 26,428,0002/%10! 26,428
z 13,214
z 13,214
(ZSiniTe= 2,960, 34024101 2,961
z 1,480
z 1,481
0SSR RASHAIZHIEN T 2E)
105,710+ 101+ 128 1,269
z 635
z 634
0tELE 110,000+ 101x 122 1,320
z 660
z 660
0ZAHZAH| 140,000 %101% 122 1,680
z 840
z 840
A =2 2| 153, 1202 %1 Q1% 12 1,838
z 919
z 919
03 SR(RIH) 2 2L 32,256 33,876 1,620
OSEAHIZ2IAHZRE) 32,256
0oe=2 2,438,00024*101x 122 29,256
z 14,628
z 14,628
0ItELE 250,000 *1Q1x 122 3,000
z 1,500
z 1,500
SEIAFIZ2IAL QIAHI(XER) 11,562 8,065 3,497
101 QI124H 11,087 7,540 3,497
02 JIEHEIE 2 2,99% 1,868 1,127
OSEAtIZEIAHAIZHIEHAD T 2,99%
OAIZtRI 2R4Y 9,620 %20 A| 2+ 122 2,309
0ADEAM| 7,53120x91A| 2101 686
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A FOIZRID
M UEE SN U HRBA
[m]

&2l SU=XIXA (Ctol: ®M2l)
- _ - PSlE]
DA - BB ER(E) - HIRAI - BAS ot E finE=t
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